
SAP ABAP table /BEV2/ED927 {Define Actual Shrinkage}

_BEV2_ED927

MANDT [CLNT (3)]

YHVBART [CHAR (3)]

BWART [CHAR (3)]

KZBEW [CHAR (1)]

WERKS [CHAR (4)]

YHDATAB [DATS (8)]

_BEV2_ED901

MANDT [CLNT (3)]

YHVBART [CHAR (3)]

 /BEV2/ED927-YHVBART = /BEV2/ED901-YHVBART 
0..N

1

T000

MANDT [CLNT (3)]
 /BEV2/ED927-MANDT = T000-MANDT 

0..N

1
T156

MANDT [CLNT (3)]

BWART [CHAR (3)]

 /BEV2/ED927-BWART = T156-BWART 

0..N

1

T156T

MANDT [CLNT (3)]

SPRAS [LANG (1)]

BWART [CHAR (3)]

SOBKZ [CHAR (1)]

KZBEW [CHAR (1)]

KZZUG [CHAR (1)]

KZVBR [CHAR (1)]

 /BEV2/ED927-KZBEW = T156T-KZBEW 

0..N

{0,1}


